
Definition: We define the nullity of A to be

nullity(A) = dim(null(A)) (5)

Note 6: If the m× n matrices A and C are row equivalent, then

null(A) = null(C) (6)

since elementary row operations preserve solutions to Ax = 0.

Example 6: Let A =


2 −4 0 2

−1 2 1 2

1 −2 1 4

.

1. Find a basis for null(A). Calculate rank(A) and nullity(A).

2. Calculate rank(A) + nullity(A). What do you observe?
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Example 7: Let A =


1 1 2 0 2

0 1 0 −1 −1

1 −1 1 1 3

1 2 0 −3 −1

.

1. Find a basis for null(A). Calculate rank(A) and nullity(A).

2. Calculate rank(A) + nullity(A). What do you observe?

5
















































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































